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 Structure: Base & Exponent ey §
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In any math of power, there’s a base, and there’s an exponent, gvhich
determines how many times the base was multiplied »~ « . V(L

* Freedom of exponent RGN

The number representating exponenet can be any free real number, any
rational or irrational, positive or negative, anything..,
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If a€R, a0 and m,n€N, m=n,
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Mathematical induction rule
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e Rule: Q )

If any mathematical statement is true for a unit value, and after
assumingit true for a common value,if it 1s again true for consecutive
value, it can be admltted true for every value. . e
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%(ssuming the value of preferable Variableg 1 énd proving the statement.
* Assuming that for the value of the variable being k, the statementis true.

* Proving the statement for value of the variable being k+1.

C N —Trwe Paeve < o
\O%) @w NS /U .
/ sl



s ‘ m ‘Z/
N %/ a™. aq" = g"tm <m )
) -Z. \ -
FOrmUIa 2\/\ AT 51 (variable) fa% n (F, 54‘(? ! :

Step-1: So if, n=1, then, —_— ™.)
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Example 4

If m,NnEN, then,
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The structure of root considered as this thing,

Ifx" =a
Then x will be called the nth root (n-93 3¢) of a [only
ifn€EN, and n>1]

x can be written as ™/a.
Some points to be noted:
e [fa>0 and n€N, n>1, then there are two cases. If
n is 0dd(fI®TT), then the nth root will be simply
n/a. Butif n is even((S1Y), then there will be two

nth roots for a. One is "V/a, and another is -"/a
e [fa<0 and n€N, n>1, then there are two cases

again. If n is odd, then the nth root will be -n/a.
But if n is even, there is no nth root for a.

Relation between root and exponent:
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‘ Ifwhere a>0and a + 1,thenx =0

: Ifwherea>0andx¢0,then@ J\WO
* If a* = a’,wherea>0and a # 1,thenx =y /,V

* If a* = b* where=>0andx # 0,thena=>b
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(% If XV = (x\/ax, then what is the value of x?
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» py b+c c c+a x a+b
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If ax = bY = cz and abc = 1,

then show thatﬁ +9 +2=0.
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Simplify:
1 1

+
1+a’ 7+ @ 1+a*>*+ a?y

1+a*Y+ g¥=




A

GeN'™ !//«/ b o ‘f! !

4% — 32%+2 4 25 — () (ST FE) -
L &
(Z _3.25.2° ¢ 52-0 -\za +32 =0
ﬂz) A T RS L
2.2 4 32 =0 > 3068 —Hl O = °
= CZ,) - 5 (29 (D’H){f:\ o | g
&, 27=) 3-6=° - A=31
3’«'1 —_—
3 =8 3 9=
o™ -2 2"
k=2 T



(a) a b) a3b®
(b) a®b %&ﬂﬁ (d) ab®
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Mathematical induction 1s used-

(a) To invent new formula

(b) To prove a formula

(c) None
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If aP = b2, then show that, (%)b = ab ' and from this prove that, if
a= 2b,thenb = 2
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If a = 2 + 23 + 23, that show that, a® —6a’ +6a—2 =0
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If a™. a™ = (a™)", then prove that, m(n —2) + n(m —2) =0
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